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1. An iron needle sinks in water whereas a ship made of iron floats on it
because

dig &Y g3 ar=it & g STl 8 STafeh e o1 STgTst 39 WR avdT g, aifh
(a) the edge of the needle is pointed

gs ol fohaRT JhIeT glar 8

(b) the ship is flat/STgTsT 9UIE 8

(c) the ship is driven by powerful engine

STETST ATThATAT So19 ZRT GdTfeid 8

(d) specific gravity of the needle is greater than that of water displaced
by it.

gs ol T A e 59 ZRT fawnfaq gt & a9aa & sifdeh giar 8|
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2. The cloudy nights are warmer than clear nights because

dT&e dTet] It AT Il chl g1 | 31k 71 gt § araifan

(a) clouds prevent escape of radiation of heat from the ground and
the air.

dTEe STHIA 3R gar 4 HT <k faferzor el argr Aere @ Aehd &1
(b) absorb sunlight in the day and radiate the same in night.

fe=1 & g o vami2n ot ST @vd g ok Ia & It ol fahiof
h3d gl

(c) clouds make the atmosphere damp and generate heat.

dTEe ITATaRUT <hl FH 4T @ 3R THi = e &1

(d) clouds obstruct the movement of air which creates heat.

a1 gdT <h! 7fa A a1 STe1d @ foraa 7t der gt g1
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3. Food gets cooked faster in a pressure cooker because

UR hehr H WHT STe] UahdT g diTeh

(a) Twater starts boiling at a lower temperature due to high pressure

I &1 ch ShIRUT UTHI ehH dATIHTH UR Ige14 1141 8

(b) water starts boiling at a higher temperature due to high pressure

I ST <h HIRUT T Tk IT9HTE UR I T g

(c) water boils only at 100°C but the heat content is higher at high pressure

uT=1 chae 100 2 Qa9 u= g Iaa1dT g Afeh 3= gara ur i i
AT S1fdrep gt 8

(d) convection currents are set inside the cooker

Hag YRIQ heh & 3R e ) SI1<dt 8
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4. It is more comfortable to wear white cloths in summer because
e s & Tthe, g Ug—-T i SRS gidar 8, aifch-
(a) they reflect heat falling on them.

d 31U HUR USH Tl AT <hl URTafdd & e &

(b) they radiate heat tansferred from the body.

d IR O WHTaRd T fa<hiof ezd g1

(c) they absorb perspiration.

d giA <ht 3reSiTd hed &.

(d) they are soothing to the eye.

d a1l o foiw g@era 8|



SCIENCE BY NIHARIKA RATHORE [USE CODE —-Y431 FOR DISCOUNT] Adda‘aq ﬂ

5. Of the two bulbs in a house, one glows brighter than the other.
Qah BR H & gl A T Yap gER hY g1 A 31fdep gwhien g1
Which of the following statements is correct?

Fafef@d sy 4 9 w9 agt g?

(a) The brightness does not depend on resistance.

THh Ufay R A= 9t el 2l

(b) Both the bulbs have the same resistance.

4 Iesl ot ufaRter IE |

(c) The brighter bulb has larger resistance.

IouTdd dod bl Ufazter 31fdeh gldr g1

(d) The dimmer bulb has larger resistance.

f2uR se=1 ot ufa=ter srfder glar gl
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6. A fluorescent tube is preferred to an electric bulb because
Qah fasTetl o aed kY o1 | Uah eiRide &Jd i
uTAfAeRdr <Y STt & <Raifeh

(a) it has a larger light emitting surface.

gYch! Uech TSI Uh12A ScdGieh Idg gl

(b) voltage fluctuations do not affect it.

dieesT ch IAR-UGId <hl 39 UR <his TR @l uSdT gl

(c) in a tube electrical energy is almost converted into light.
Qoh &Jd | faegd Sotf ot uester # aikafae gt st 81
(d) None of these/39H H <his q‘eﬁ
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7. Consider the following statements in respect of a jet engine and a rocket:

Sie §919 31 Iche & Tau # Afefed Al wk faar &

1. A jet engine uses the surrounding air for its oxygen supply and so is unsuitable
for motion in space.

Qch Sie o1 3T SHTardtor ht 3imgfe o ferg T kY gar &1 IuaiT T g
3R gaferq ag siafer 7 nfa & fog srgugss 81

2. A rocket carries its own supply of oxygen in the gas form as a fuel.

Qch Yiche $4 &h U A 19 & U A HTeRiTSIA hl 31g+T smgfd war gl

Which of the above statement(s) is/are correct?

IURIh H 9 hi< 91/ hud ggl /a7

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2




SCIENCE BY NIHARIKA RATHORE [USE CODE —-Y431 FOR DISCOUNT] Adda‘aq ﬂ

8. The leaning tower of Pisa does not fall because

e Y P g€ R gaferg ¢ A 2

(a) it is tappered at the top. / ag M ur ya=T 81

(b) it covers a large base area.

g Ueh I8 SITYTR &3 hl cheR &hdl gl

(c) its centre of gravity remains at the lowest position.

gk SThYUT chg Had et T R BT 8|

(d) the vertical line through the centre of gravity of the tower falls
within the base.

%aéwmm%#%mmﬁmmanmanﬁm
|
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9. Given below are two statements:

H= g} e fRu Mg &:

Assertion (A)/<TdT (T):

Universe is expanding./sTg]is &l fa<R &l 8T 8|

Reason (R):/<hIR0T (31R):

The result is based on red shift of spectra of galaxies.

RO STRIFATTS & TWaeT & AT d&eTd UR HTUTR 2|
Codes/<hIgH:

(a) Both A and R are true and R is the correct explanation of A.

A 3R R 191 G & 3R R, A <hl gl ==t g

(b) Both A and R are true, but R is not the correct explanation of A.

A 3R R <41 Tgl 8, Afha R, A hY Gt sare=aT a8 81
(c) A is true, but R is false. /A ST &, R~ R 39 gl
(d) A is false, but R is true./A I &, UR=JR qda gl

[USE CODE - Y431 FOR DISCOUNT]

Addal24
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10. Electronic motors operating at low voltages tend to burn out because
T AledeT IR et aTeht saae e Hied ofet oIl &, it

(a) they draw more current which is inversely proportional to the voltage.
d 31fdeh URT Wiad § S AT &b FaRATIUTT gl 81

(b) they draw more current which is inversely proportional to the square

root of the voltage.

d 31fdres U1 Wiad @ STt ateest & e & ahATard giar gl

(c) they draw heat proportional to V°.

d v2 & FHIUT arg diad gl

(d) low voltage sets in electrical discharge.

faega Ades A vy gttt del
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11. Match List-1 with List-1l and select the correct answer from the codes given

below:
-1 ht gt-1 @ gRfera hiforg ik A= few g ge @ w@at 3R gfg:
List-I List-1I
A. Morphine 1. Antiseptic
B. Sodium 2. Alloy
C. Boric acid 3. Analgesic

D. German silver 4. Kerosene oil
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12. Match List-1 with List-l1l and select the correct answer given below:

-1 it eI & AT EIeTg ofik et Ry g ad IR & T S

List-I List-1l
A. Electron 1. Goldstein
B. Proton 2.J.)J. Thomson

C. Neutron 3.Chadwick
D. Positron 4. Anderson

Codes:

A B C D
(a2 1 3 4
(b)a 3 1 2
(cj)2 1 4 3
(da 3 2 1

Addal24
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13. Match List-1 with List-II

-1 st gt-1 @ gRfera fifog

List-I List-I
A. Thomson model 1. Dual nature of electron
B. Rutherford model 2. Nuclear theory
C. Bohr's model 3. Plum pudding model
D. de-Broglie theory b 4. Concept of quantization of energy
Codes:
A B C D
)3 4 2 1
b)2 1 3 4
(c)2 4 1 2
d3 4 1 2
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14. Consider the following parts of spectra:

WaeT & Afeaf@d v or faar &R

Which of the following is the correct sequence in which the
wavelengths increase?

fA=faf@a d @ ol a1 9@l shd & oiad G ed gearg?
1. Visible/qTHATA

2. Infrared/3Td3~h

3. Ultraviolet/URTeT=

4. Microwave/HATSshidd
(a) 4,3,1,2 (b) 4,1, 2,3
(c)3,2,1,4 (d)3,1,2,4
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15. Match List-1 with List-l1l and select the correct answer from the codes given below:

Tht-1 st -1 @ gHfara hiforg ok i< fiw 7y ge @ "at 3R gAT:

List-I List-lI
A. Moderator 1. Uranium
B. Control rod 2. Graphite
C. Fuel rods 3. Boron
D. Coolant 4.Lead

5. Sodium

Codes:

A B C D
(a) 2 1 3 5
) 3 1 5
(c) 3 2 1 )
(d) 3 4 1 2
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16. The difference between a nuclear reactor and atomic bomb is that

A1) REaeR 3R URHTY] aH o i & SidR ag 8

(a) no chain reaction takes place in nuclear reactor while in the atomic bomb

there is a chain reaction.

g;gﬁqmﬁaﬁéﬁqﬁqmﬁqﬁgﬁm%mﬁ;maﬂﬁﬁqﬁqmm
I

(b) the chain reaction in nuclear reactor is controlled.

9=ATY] Ruaer & 99 Ruae™ &t AdfRa forar srar g

(c) the chain reaction in nuclear reactor is not controlled.

gAY Ruaer 7 =9 Ruae™ Adfa gt giar |

(d) no chain reaction takes place in atomic bomb while it takes place in
nuclear reactor.

ORHTY] 9 H hig o< RUaRE A6l gidr g Stdfch ag avH9] Ruaex # gir 8|
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17. Match List-l1 with List-1l and select the correct answer from the codes given

below
Til-1 ot G=A- 1 § gRfera hifoig ik i 3w 1o ge 3wt sk giAg
List-I List-II
A. Zero mass 1. Positron
B. Fractional charge 2. Neutrino
C. Fractional spin 3. Quark
D. Integral spin 4. Photon
Codes:
A B C D
(a) 4 3 1 2
(b) 3 2 4 1
(cj 2 3 4 1
(d)3 2 1 4
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18. H,0 is liquid and H,S is a gas because

H,O &4 & 3R H,S Ueh 1] ¢ Haifh

(a) oxygen forms stronger hydrogen level than sulphur.
HhR hl AT | TR oT ASTdd gIsgioi R Tl g
(b) oxygen is less electronegative than sulphur.

TR hl AT | AT tor oA faedia gl

(c) atomic radius of oxygen is less than that of sulphur.
SferfST hY g=ATY] FAsar 9ehr O oA gidl 8|

(d) atomic radius of oxygen is greater than that of sulphur.

ST hl gAY FPAsar Sk &hl o1 | 31fSh gidl 8|




I Adda2u

19. Consider the following statements and select the correct code.

fAefafaa Fuat or faar &R ofik 98l ge o ga- H1

Assertion (A)/<TdT (T): A chemical reaction becomes faster at higher temperature.
I dAT9HT UR Ueh TATafeh Ufafehar a1 gt siredt g1

Reason (R)/<hIRUT (311R): At higher temperature, molecular motion becomes more rapid.
I=I ATYHTE UR, 31ToTfaeh fa 31fder di gt st g1

Codes:

(a) Both A and R are true and R is the correct explanation of A.

A 3R R <41 O g SR R, A <hl gl aar=ar g1

(b) Both A and R are true, but R is not correctnexplanation of A.

A 3R R <191 Tl €, Afha R, A h T =TT 7g) g1

(c) A is true, but R is false.

A 9 g, IR R A g1

(d) A is false, but R is true.

A 3T 8, O3] R 9J &1
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20. The order of appearance of the following with increasing
temperature during the refining of crude oil is

ehed det <h MY oh SRE ded araHE & 91y AEafafada &
SuRATT wTshA 8

(a) Kerosene, gasoline, diesel

B &7 3w, Aere, Srorel

(b) Diesel, gasoline, kerosene

Storet, A, Fd @ ad

(c) Gasoline, kerosene, diesel

frfeh, FdY o1 aet, STl

(d) Gasoline, diesel, kerosene

A, Srore, Fagt anr de
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21. Consider the foIIow!ng statements abqut Vechur ca:ctle breed
dR "M 7 & AR 7 AEfaf@a dy=f R fdar &

1. Vechur is the world's largest cow.

AR T ) gad 9 T 2

2. It is indigenous breed found in Kerala.

g hieT H UTS STA arett 3t F5T 81

3. Its milk protein has medicinal value.

g g ME T eftuefia Aga gl

4. Commonly used in farming as draught animal.
IMHAR R 1O YA o &4 J Wl & Igai fhar sirar gl
Which of the statements given above are correct?
SR fRU MU hy=T A @ i A gl 82
(a)1,2,3and 4 (b)1,2and 3

(c)2,3and 4 (d) 3and 4

Addal24
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22. Consider the following statements:
fefafed syl R AR &

1. Warm-blooded animals can remain active in cold environment in which cold-

blooded animals can hardly move.

TH G a1 SATHaR 88 IT1aRoT | |9ichd 3§ Hahd g fSIaH §8 T dTet SR
qfhet @ I 9ohd 8|

2. Cold-blooded animals require much less energy to survive than warm-blooded
animals.

&8 W ITe SITHaRT bl TH G dTet SITaRT chl JoI-1T H Sfifad g+ o fag aga
ehH Sl <hl STIThdT gidl g1

Which of the statements given above is/are correct?

SR feu U syl A 9 v 91/9 9@t 8/a?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
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23. Consider the following statements:

fafaf@d syl R R

1. Human beings have 23 pairs of chromosomes.

AT H UREAT & 23 SIS gl &

2. Sex chromosome in human male is named XX.

HHa R H T Toreg ot XX A1 g mar g

3. Chromosomes are best seen in metaphase.

Aerthet # AT 999 or<s ©U § ¢4 ST &1

Which of the statements given above are false about chromosomes?
IR U T U=t 7 & I I UREGH & TR H 3T 8?7
(a) 1and 2

(b) 2 only

(c)1,2and 3

(d) None of these
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24. Match List-l (animals) with List-1l (class/ phylum) and select the correct answer from the
codes given below:

Tll-1 (ST1aRt) ht gft-11 (avt/5e) @ gafera S ik i f&w e e 9 9@t swr gfg:

List-l List-I
A. Octopus 1. Pisces
B. Jellyfish 2. Arthropoda
C. Silver fish 3. Mollusca

D. Bombay duck 4. Coelenterata

Codes:
A B C
(a) 3 4 2
(b)3 2 4
(cj2 3 1
(d2 1 3

»PRprrmrU
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25. Which of the following professionals are more likely to run the risk of a permanent
change in their cell's DNA?

fAfafEd 3 9 9 @ d9der 3ra I« & digav & iRl uRad= @1 siifew seM & sifden
HHTGAT 3@ 82

1. Researchers from carbon-14 isotope/EFITsz-r-14 U T Merehdl
2. X-ray technician/TeRT - ¥ dAeh=TH AT

3. Coal miner/spIaa & @ A 1A HIAATAT

4. Dyer and Painter/STR 31k Uex

Select the correct answer from the codes given below:

1 fdT T e d Tt IR T aAqH R

(a) 2 only

(b)1,2and 3

(c)1,2and 4

(d)1,3and 4
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26. Consider the following statements about gene
StiF & aR # Afaf@a syt o= faar &

1. Word 'Gene' was given by Johanssen.

T 'S e+ ZRT f&ar mam i

2. Genes are situated on chromosomes.

ST TORET R R4 gla 8|

3. Genes located at different locus and having different expression are multiple alleles.
STET- 31T AT WR AT S 3R erer-ore T sifNeafh aret Shie a«diue el g1
Which of the statements given above are true?

SR RTMU ey A d hiad ga g?

(a) 1and 2

(b) 2and 3

(c)1and 3

(d)1,2and 3
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27. Consider the following statements:
fA=fafed et wR TR &

1. Frogs can breathe by lungs as well as skin.

He&eh hths b IY-91Y <= 9 Hf 919 & Gehdt |

2. Gills are not present in any stage of lifespan of frogs.
H&ohl oh STt bl o fohdl i TROT | TS HISIE T8l gid 8|
Which of the statements given above is/are correct?
SHUR U 1T At J T hl< 91/ Tl 8/8?

(a) 1 only

(b) 2 only

(c) 1 and 2 only

(d) Neither 1 nor 2

Addal24
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28. Consider the following statements:

frefaf@a syt o= faar &

Assertion (A)/<TdT (Q):

In humans, female sex is determined by XX-chromosomes.
Hgsat |, Afgat foir xx-qorgEt grr fRuafRe frar srar g
Reason (R)/<h1IROT (3TR):

Male sex is determined by YY-chromosomes.

gy foiit YY TorgEt g1 Ryiie fovar srar 81

Codes/hIgH:

(a) Both A and R are true and R is the correct explanation of A.
A 3R R 91 G g 3R R, A <hl Tl == g

(b) Both A and R are true, but R is not the correct explanation of A.
A 3R R 41 & &, Afh R, A < I aar=ar a8 2|

(c) A is true, but R is false./A G &, UR=] R 1A el

(d) A iis false, but R is true./A 319 §, U] R G g1

Adda24
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29. With reference to the work of human kidney, consider the following statements:

A ¢ & it & @ 7 Afaf@d suet R faar Hife:

1. After the waste is removed in the kidney, the cleaner blood is sent back through renal artery.
¢ # 3rufAE ohl geT R S & a1e, T Th 6 Y Y= & A1 @ ary \et fear sar 2|

2. From Bowman's capsule, the filtered liquid passes through tiny tubes where much of the glucose is
reabsorbed and sent back to the blood in the renal vein.

I & doge b, fheex fohar mar are a1él aforal @ g TorRar g Siar sifdasier wofehlst &t g:
Sra2nAda R forar ST g SR gahia f2RT & =6 # a9 9«1 fear smar g

Which of the statements is/are correct?

AT ATRYT Tl g/ 8?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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30. Consider the following statements:

fefeaf@a syt o= AR s

Assertion (A)/<TdT (Q):

Drinking of whisky increases the frequency of urination.

feght 7 & g2 &t srgfa a1e St 81

Reason (R)/<h1IRUT (3T1R):

Alcohol intake speeds up the secretion of vasopressin in the body.
AR hT a1 IRR A dAUTAT & 19 bl a1 HAT 81
Codes/ahIgH:

(a) Both A and R are true and R is the correct explanation of A.

A 3R R 141 O g SR R, A <hl gl A= gl

(b) Both A and R are true, but R is not the correct explanation of A.
A 3R R 4T & &, AfhT R, A h Tt aar=a =8t g1

(c) A is true, but R is false. /A G &, UR=] R 319 el

(d) A is false, but R is true./A 3G &, U] R 9 el

Addal24
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31. Which of the following statements about Radioactive pollution are correct?
Mgyt ugwor & ar A A=faf@a § @ a9 @ FuTadt 8?
1. It causes genetic changes in the animals.

g SAT-aR] A faifAreh gRad=T o1 HROT I 8|

2. It causes disbalance among different minerals in the soil.
gg gt A fafaa @fast & dia sraqee &1 R g 81

3. It hinders blood circulation.

g =18 b2 | d1eT STt g

4. It causes cancers.

g chTR &kl hIRUT 4T g1

Select the correct answer from the codes given below

1 feQ 1Y e | APt IR &1 TgH B

Codes/hIgH:

(a) 1and 2 (b) 1 and 4

(c)1,3and 4 (d) 2,3 and 4
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32. Given below are two statements: /=@ &} shy= Ry 71T &:
Assertion (A)/<TdT (Q):

Natural vegetation is the true index of climate.

UTepfcieh IEafd 8 STetary <hl W< e 8|

Reason (R)/<hIRUT (31R):

Water loving plants are found in moist climate

ST G 9 STetarg ® UTY S11d 8

In the context of the above statements, which one of the following is correct?
IUWRIh Yyl & e H, Afafaa 7 O &i9-91 g 9t 82

(a) Both A and R are true and R is the correct explanation of A.

A 3R R ST G g 3R R, A <kl I} aar=T g1

(b) Both A and R are true but R is not the correct explanation of A.
A 31 R <191 T} € Afer R, A <l I} st A8t g1

(c) A is true but R is false./A T & U] R 319 el

(d) A is false but R is true./A 3G & U3~ R 9 el
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33. Which of the following conditions indicate the impact of global
warming?

fefaf@a 7 @ o= dt fRafq etae arfdn & gsvra at e w82
1. Melting of glaciers/T A=y <p1 forerer=T

2. Lowering down of sea level /S o <hT I fAIRAT

3. Changes in weather conditions /HaH <hl fATT & yRad=

4. Rise in global temperature/dffe araw | gieg

Select the correct answer from the codes given below:

=1 fdT 71T FHe I Tt IR AT TIH e
Codes/ahIgH:
(a) 1 and 2 (b) 1,2 and 3

(c) 1,3 and 4 (d)1,2,3and 4
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34. Consider the following statements:

fAafaf@d syl R R &

Assertion (A)/<TdT (T):

Forests are a renewable resource./d+ Ueh Teleheofia S91eH g1
Reason (R)/<hIRUT (31R):

They enhance the quality of environment./d gaiaRur hY ToTa~T G| EIE]?[ ?I
Select the correct answer from the codes given below:

1 feQ Y e | Gl IR &1 99T 1

Codes/hIgH:

(a) Both A and R are true and R is the correct explanation of A.

A 3R R 141 O g SR R, A <hl gl aar=an g1

(b) Both A and R are true but R is not the correct explanation of A.
A 31 R 191 TE} € AferT R, A < I aare=aT A8t g1

(c) A is true but R is false. /A H‘cﬂ%tﬂﬁ R @A gl

(d) A is false but R is true./A 3T G & U~ R 9 gl

Adda24
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35. As an ecosystem, wetlands are useful for which of the following?
Qoh aTiRfRAfahY a5 & +=u # A fAfafaa | | e fag
Suaift g2

(a) For nutrient recovery and cycling

gfeue Repadt 31k Argfhfent & fag

(b) For releasing heavy metals through absorption by plants.

alert ZIRT SIGAMYOT o ATSIH | WRT YT hl Tk e & [T

(c) They maintain the rivers and control floods.

a Afeaf &l 99T T@d & 3R dTe ol Fala &d gl

(d) All of the above/3UR s ¥t
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